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All Candidates' performance across questions

Question Title Mean Max Mark Attempt %

11 1729 3.4 1 4 85.5 99.3

GCE Economics EC2 1132-01

Question
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Assessment

Question Answer Mark objective
31 Average hourly wage in the UK falls to £11.21 in 2013, lower than the 8 AO1 3
level in 2003. AO2 3

AO3 2

Using supply and demand diagrams, explain why average wages may
have fallen in the UK in recent years

Level 1

1-3

Limited knowledge of relevant economic theory. One or
two basic points made.

Answer may contain a list of relevant points or diagrams which
are not explained and badly labelled.
Relevant factors include:

Demand (shifts to the left):

e Impact of recession

e Improved technology

e Global
competition/outsourcing

Supply (shifts to the right)

¢ Immigration from EU and
outside

¢ Increased retirement age

¢ University fees leading to
more part-time workers

Credit any other relevant points

Level 2

Good understanding of subject matter with some
application. Relevant points made and developed using
examples/diagrams and appropriate economic theory.

Level 1 points are explained and related back to falling wages.
Points may lack some depth of explanation.

Some candidates might think about the idea that wages have
risen by less than inflation.

Top of level 2 for two moderately developed points and an
integrated diagram, covering both demand and supply. If only
D or S covered, points will need to be well developed.

No diagrams: Max top L2

D or S only: Maxtop L2

Abstract theory: Max top L2

© WJEC CBAC Ltd.
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Question

Answer

Mark

Assessment
objective

Level 3

7-8

The demands of the question are fully understood and
relevant economic theory has been fully explained and
applied using relevant examples/diagrams throughout the
answer.

Good diagram with at least 2 well explained factors covering
both S and D which are relevant to the context — wages

falling in the UK in recent years. Candidate is clear about
why wages have fallen — good relation back to the question.

© WJEC CBAC Ltd.
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Question

Answer

Mark

Assessment

objective
32 Discuss whether areduction in the national minimum wage would 12 AO1 3
reduce unemployment in the UK. AO2 3
AO3 2
Level 1 | Limited knowledge of relevant economic theory with no real AO4 4
engagement with the issue being considered. May focus
1-4 | onjustoneside of the issue. Points will not be developed.
Will: Simple diagram, not explained. Costs fall — cheaper to
employ
Won't: AD is still very low. Not if minimum wage is below
Level 2 | Basic economic theory and principles are
5-8 | explained/applied/analysed. The candidate engages with

the issue being considered using appropriate
examples/diagrams, but may focus heavily on one side of
the issue and evaluation may be limited.

Candidate explains and develops Level 1 points, using
economic theory in context. Likely to introduce more
sophisticated points:

Will:

e Well used diagram, labelled with new and old unemployment
marked.

e Demand for labour may increase because costs of
employment fall.

¢ D for labour may increase because firms can cut the prices
of final products, UK firms more competitive on world
markets

e D for labour may not fall because firms have less incentive
to invest in labour replacing technology.

Won't:
e Labour costs only one factor affecting demand — state of
economy — derived D.

e Some candidates might reference voluntary unemployment
¢ Most workers earn more than the minimum wage, therefore
many firms will be unaffected. Might use diagram here.

e Wage stickiness
e Falling wages may cut AD

Credit any other relevant points

Answers using throw-away evaluation (e.g. it depends on the
size of the increase, without then developing that idea) only will
be in this level, also answers which evaluate but have weak
underlying analysis (i.e. Relevant economic theory and
principles are not fully understood, applied and analysed).
Answers with no evaluation cannot reach level 3.

© WJEC CBAC Ltd.
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Question

Answer

Mark

Assessment
objective

Level 3

9-12

Relevant economic theory and principles are fully
understood, applied and analysed. The issueis fully
evaluated using arange of appropriate examples/diagrams.

Strong two-sided approach with developed arguments on each
side

9-10 Answer contains developed evaluation but is not fully
convincing

Evaluation is present but may take the form of a strong two
sided answer, where both sides contain at least one well-
developed argument.

11-12 In context answer

Answers scoring 11-12 will have answered the question in a
convincing fashion. Candidate probably evaluates both sides of
the argument and probably makes a judgment about whether or
not unemployment will rise.

Additional evaluation points (beyond using the ideas in section 2
to oppose one another) might include: (i) Labour might not be a
big part of firms’ costs (ii) UK costs will still be above those of
firms in other countries (iii)Voluntary u/e might not increase if
benefits system reformed (iv) Depends on elasticity of D/S for
labour.

But — if only throw-away points, the answer may still only be
level 2. Level 3 answers will have developed evaluation.

Credit any other relevant points

© WJEC CBAC Ltd.
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Sticky Note

Again, decent anecdotal evidence, but really that's it. No meaningful diagrams. Fits very clearly into level 1 - "Limited knowledge of relevant economic theory. One or two basic points made". Hence 2/8.



Sticky Note

This makes mathematical sense.



Sticky Note

There is some logic here, but this doesn't really work as things stand.
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Sticky Note

Horrible diagram. No intercepts and highly suspect labeling of D and S.



Sticky Note

True, but a strange start - making the counterargument before the argument. Nothing wrong with this inherently, but makes you wonder where they are going with it.
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Sticky Note

This is not a good answer. Diagram is poor and there is limited development. On the other hand there are some relevant points made on both sides of the debate.

Seems to fit best into L1:

Limited knowledge of relevant economic theory with no real engagement with the issue being considered.  May focus on just one side of the issue. Points will not be developed.
Within this band, the attempt at the diagram, the fact that a number of points were made persuaded us that this was close to the top of the band - better use of the diagram might well have pushed it into L2. Hence 4/12 and a total of 6/20.



Sticky Note

OK but very basic analysis here.



Sticky Note

Mechanistic explanation. Why does supply fall?
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Sticky Note

Although the answer has both a shift in demand and supply, the link to average wages was felt to be very weak. Looking at it as a whole, it does not provide a convincing answer to the question: 

Using supply and demand diagrams, explain why average wages may have fallen in the UK in recent years.

It seemed to fit best into level 2:

Good understanding of subject matter with some application.  Relevant points made and developed using examples/diagrams and appropriate economic theory. But, given the weaknesses inherent within it, it was decided that this was a bottom level answer. Hence 4/8.





Sticky Note

OK but not explained or related to wages.



Sticky Note

Not really.



Sticky Note

Diagram OK again.



Sticky Note

Why do wages fall when D falls? Single market explanation rather than looking at average wages in the UK.



Sticky Note

Diagram is OK.
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Sticky Note

This is also true, but marks the end of the answer.

These type of responses are difficult to mark and reference needs to be made to the response grid. Level 2 would be:

Basic economic theory and principles are explained/applied/analysed.  The candidate engages with the issue being considered using appropriate examples/diagrams, but may focus heavily on one side of the issue and evaluation may be limited.
 Level 1 would be:
Limited knowledge of relevant economic theory with no real engagement with the issue being considered.  May focus on just one side of the issue. Points will not be developed.
A case could be made for saying that the points are developed and that therefore it is level 2, but in reality there is limited knowledge of economic theory demonstrated. The answer does have two sided, and the points are both sound, with some development. Nevertheless, the feeling was that level 1 was as high as this could go, although the quality of the points made put it at the top of the level, so 4/12, giving a total of 8/20.






Sticky Note

OK start - not well developed, but valid.
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Sticky Note

This answer does supply and demand reasonably well. There could have been a clearer link back to why the shifts in S and D would cause wages to fall, but the understanding of this has been demonstrated early on in the answer. What stops it from hitting level 3 is any real sense as to why wages have fallen in the UK in recent years. The best answers here talked about the financial crisis or immigration from Eastern Europe and so on, and did so in context rather than raising them as hypothetical issues. Hence this answer was worth top level 2: 6/8.



Sticky Note

Another solid point, well developed.



Sticky Note

Supply factor, integrated diagram with understanding of why wages will fall.
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Sticky Note

This is true, but goes against what the candidate's diagram shows (which is a fall in the gap between Sl and Dl).



Sticky Note

Slightly clumsy standard theoretical evaluation, but valid.



Sticky Note

Brief explanation of demand - could have been developed.



Sticky Note

Solid diagram.
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Sticky Note

This didn't seem to us to warrant a level 3 mark. Although the diagram was solid, it wasn't very well used. Evaluation was present, but was both fairly abstract and more importantly not fully explained. On the other hand, there was a good range of points raised and theory was quite solid. As a result, we felt that this answer was top of level 2. With great explanation of the points made and more effective use of the diagram, this approach could easily have made it into level 3. Hence 8/12 giving a total of 14/20. If repeated across the paper, this would be around a borderline 'A' grade response at AS level, which feels about right. 



Sticky Note

Repeats points already made without weighing them against one another or qualifying.



Sticky Note

This is very general.



Sticky Note

True, but not contextualised - what might cause the Dl to be more or less elastic - again, the point is lacking development.






SECTION B

Answer one question from this section.

AVERAGE HOURLY WAGE IN THE UK FALLS TO £11.21 IN 2013, LOWER THAN
THE LEVEL IN 2003

Using supply and demand diagrams, explain why average wages may have fallen in
the UK in recent years. [8]

- Discuss whether a reduction in the national minimum wage would reduce
unemployment in the UK. [12]
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Section C

Question Answer Mark ASS‘?SS’.“E”‘
objective
51 Budget 2013: Fiscal policy to be responsible. Monetary policy stimulus 8 AO13
to support demand AO23
AQO3 2

Explain how monetary policy and fiscal policy can be used to increase
Aggregate Demand.

Level 1

1-3

Limited knowledge of relevant economic theory. One or
two basic points made.

Candidate shows some understanding of fiscal and monetary
policy, but lacks depth. A level 1 response will tend to make
points like:

e Monetary policy is to do with the control of interest rates
e Fiscal Policy is to do with taxes and government spending

Credit any other relevant points

Level 2

Good understanding of subject matter with some
application. Relevant points made and developed using
examples/diagrams and appropriate economic theory.

Points are developed and show how monetary and fiscal
policy work in terms of their impact on AD

Monetary Policy (up to 4):

Changes in interest rates affect (up to 3 through any
channel):

- Cthrough mortgage payments, incentives to save and
borrow, asset prices and impact on income of retired.

- | through cost of borrowing and impact on
confidence/expectations

- X,M through impact on ex rate.

QE expands the money supply (Allow any limited
understanding here)

Fiscal Policy (up to 4):

Affects AD through:

- Direct and Indirect tax (tax up to 2, don’t have to do both
DT and IT)

- Current and Capital spending (G up to do, don’t need to
name specific categories such as capital/current).

4 Max if only FP or MP covered.

Credit any other relevant points

© WJEC CBAC Ltd.
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Question

Answer

Mark

Assessment
objective

Level 3

The demands of the question are fully understood and
relevant economic theory has been fully explained and
applied using relevant examples/diagrams throughout
the answer.

All relevant aspects of monetary and fiscal policy are covered:

¢ Monetary: Interest rates cover at least two of the three

channels of the transmission mechanism.

¢ Fiscal: both taxation and government spending are

covered with examples.

© WJEC CBAC Ltd.
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Question Answer Mark Assc-_zssr_nent
objective
52 Is it more important for a government to achieve low inflation or low 12 AO13
unemployment? AO23
AO3 2
Level 1 | Limited knowledge of relevant economic theory with no real AO4 4
engagement with the issue being considered. May focus
1-4 | onjustoneside of theissue. Points will not be developed.
Candidate may bullet point some of the reasons for or against
achieving one or the other, but there is little or no development
— essentially a bullet-point list.
Level 2 | Basic economic theory and principles are
explained/applied/analysed. The candidate engages with
5-8 | theissue being considered using appropriate

examples/diagrams, but may focus heavily on one side of
the issue and evaluation may be limited.

Candidate explains and develops some of the reasons for and
against achieving some of the objectives. Points likely to be
drawn from:
¢ Unemployment: Pareto inefficient, impact on budget,
risk of deskilling, social consequences, inequality,
reduced living standards, reduced profits for firms cutting
investment. Etc.
¢ Inflation: Competitiveness issues, impact on fixed
income groups, fiscal drag, menu costs, policy response,
disguised inefficiency, damage to business confidence.
Etc.
Top level 2 answers will show a good understanding of why
each might matter (two to three points on each, with a small
amount of development — remember that this is an AS exam,
not A2).

Credit any other relevant points

Answers using throw-away evaluation (e.g. it depends on the
size of the increase, without then developing that idea) only will
be in this level, as will answers which evaluate but have
weak underlying analysis (i.e. Relevant economic theory and
principles are not fully understood, applied and analysed).
Answers with no evaluation cannot reach level 3.

Max 8 for answers that purely explain why low u/e and inflation
are desirable.
Max 8 for one objective fully evaluated.

© WJEC CBAC Ltd.
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Question

Answer

Mark

Assessment
objective

Level 3
9-12

Relevant economic theory and principles are fully
understood, applied and analysed. The issueis fully
evaluated using a range of appropriate
examples/diagrams.

Strong two-sided answer with developed arguments on each
side

9-10 Answer contains developed evaluation but is not fully
convincing

Evaluation is present but may take the form of a strong two
sided answer, where both sides contain at least one well-
developed argument.

11-12 In context answer

Answers scoring 11-12 will have answered the question in a
convincing fashion. Candidate probably evaluates both sides
of the argument and probably makes a judgment about
whether or not it would be sensible to increase the price of
school meals.

Additional evaluation points (beyond using the ideas in section
2 to oppose one another) might include: (i) Large price
increase might mean that D becomes elastic. (i) Low income
groups receive free school meals anyway, so regressive
effects will be limited. (iii)Food prices rising rapidly therefore
essential to increase. (iv) School meals not always particularly
healthy anyway, so external benefits would be limited (v)
Scholl meals are contracted out in some areas, so the extra
money will simply go to private firms.

But — if only throw-away points, the answer may still only be
level 2. Level 3 answers will have developed evaluation.

Credit any other relevant points

© WJEC CBAC Ltd.
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Sticky Note

True but not answering the question. No additional credit as yet.



Sticky Note

True and if left at this point, this would be a level 1 response.
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Sticky Note

Probably an A2 candidate (although not necessarily). There is neither more nor less credit for using a Phillips curve than there would be for using AD/AS diagrams.



Sticky Note

This answer shows a fair understanding of what monetary and fiscal policy are, and also which direction levers need to be pulled to increase AD. 

However, the mechanics through which any of this might occur are left unexplored and at no point does the answer analyse any component of AD other than consumption. Hence, it is level 2, but only just. 4/8.



Sticky Note

Which goods? Again answer seems to think that C and AD are synonymous.




Sticky Note

True but not explained.



Sticky Note

Answer might be conflating C with AD, but not clear.



Sticky Note

True but very general - specific examples which are explained would add much more.
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Sticky Note

This is the same point in reverse and (obviously) isn't necessarily true. This answer was typical of a huge number of responses to this question who either (i) liked part 1 and din't think about part 2 until it was too late, or (ii) thought that this essay was simply about the trade off between policy objectives. As a result many answers struggled to escape level 1, like this one. There is no real answer to the question here, other than one developed point about benefits spending. There is some understanding of the trade-off which done right could be an evaluative point, but isn't really done that way here.

Hence this is a level 1 answer: 'No real engagement with the issue'. 3/12. Total 7/20.



Sticky Note

Low unemployment will reduce welfare payments.



Sticky Note

Answer has shown that they understand that there may be a trade-off between unemployment and inflation, but this is not what the question asks.
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Sticky Note

Investment developed a little. Good on MP (we allocated 4/4 for MP here (subject to it also hitting the level criteria).



Sticky Note

Consumption fully developed.



Sticky Note

True, MP developed a little.



Sticky Note

True. L1.



Sticky Note

Diagram not needed and not worth any credit directly, although creates an impression of competence.
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Sticky Note

True, but would have been better if the answer had talked about why this matters.



Sticky Note

Good explanation of impact on government finances of low unemployment.



Sticky Note

Direct focus on the question set, immediately making relevant points.



Sticky Note

Not a perfect answer, but shows a good understanding of both monetary and fiscal policy. 8/8.



Sticky Note

Tax also well developed.



Sticky Note

Understands that G directly increases AD, not just by impacting C.



Sticky Note

True.
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Sticky Note

Again, low inflation isn't the same as falling prices.



Sticky Note

Trade-off.



Sticky Note

Some danger of conflating low inflation with low prices.



Sticky Note

Reasonable point (could have explained why stability matters to firms).



Sticky Note

Brief evaluation of low unemployment.
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Sticky Note

This is a reasonable attempt at the question and is a level 3 response. The answer was much more convincing when talking about unemployment than inflation and therefore ended up low in the band - 9/12. Total 17/20.



Sticky Note

Some attempt to weigh up.
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Sticky Note

Although the answer was well written, there was too much missing to give it a really high mark. It is worth level 2, no doubt about that, but with no reference to G and no explanation of the impact of interest rates on C or the ex rate, the answer was bottom of the level 4/8. The same mark can be arrived at from 2+2 (2 for tax and 2 for interest rates impact investment).



Sticky Note

Impact of interest rates on investment explained.



Sticky Note

Cuts in income tax explained (but nothing on G).
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Sticky Note

Background information, shows that they understand the possible trade-off - that low unemployment may trigger high inflation with an explanation.
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Sticky Note

Attempt to balance the answer.



Sticky Note

Very well developed argument explaining the impact of high unemployment on the government's finances. Strong economic analysis is demonstrated here.



Sticky Note

Well developed argument supporting the case for low inflation being key.
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Sticky Note

This is an unusual answer because it goes into a great deal of depth on the points that it considers most important. This can be risky, but on this occasion produces an intelligent response to the question. It is important to look at the answer as a whole and remember that this is an AS level exam. The quality of discussion here was judges easily to be worth level 3 and the answer scored 11/12, held back from top marks by its narrowness. An argument could be made that 11 is a little generous, this is a good example of a strong response. It is definitely a safe level 3 and therefore worth 10 or 11.



Sticky Note

Uses contemporary knowledge to argue that the trade-off isn't that important currently.



Sticky Note

Understands risk of trade-off.






SECTION C

Answer one question from this section.

BUDGET 2013: FISCAL POLICY TO BE RESPONSIBLE. MONETARY POLICY
STIMULUS TO SUPPORT DEMAND

Explain how monetary policy and fiscal policy can be used to increase aggregate
demand. [8]

Is it more important for a government to achieve low inflation or low unemployment?
[12]
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Question

Answer

Mark

Assessment

objective
12 Using a supply and demand diagram, explain why commodity prices 6 AO1 3
are expected to fall further in the future (Lines 11-12) AO2 3

Diagram (2)

(i) S shifting right and demand shifting left (2) or (ii) D shifts right more
slowly (growth is slowing not negative) and supply shifts right by more (2).
One shift = (1)

Explanation (4)
Of supply and demand (up to 2)

Candidate explains clearly why supply will increase, using the data (1)
Candidate explains clearly why demand will be affected, using the data (1)
Of the change in price (up to 2)

Candidate explains why prices will fall

e Excess supply (or falling production costs), explains in words why
prices fall (1-2)
e Clear reference back to the diagram (P1 to P2 etc) (1)

Max 2 from this sub-section

© WJEC CBAC Ltd.

14
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Sticky Note

The diagram correctly shows a shift to the left in demand for 1 mark, but there is no link between the text, the diagram and commodity prices. Given the general lack of commodity price reference and no real use of diagram, this answer was awarded 2/6.



Sticky Note

This isn't strictly right - candidate has conflated the technology and growth points, but hey have identified that slowing growth has cut demand for Brazilian exports.
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Sticky Note

Overall, the answer deals with supply quite well (it would have been better with a reference to the technological advances described in the data, but is still worth 1 for supply, 1 for diagram, 1 for identification of price fall on the diagram = 3.) Plus they use the data to show that they understand that demand is falling. Therefore 4. What is missing is the lack of D on the diagram and any explanation as to why prices will fall further in the future (excess supply putting downward pressure on price etc).



Sticky Note

Demand explained but not shown on diagram = +1



Sticky Note

Diagram has been integrated +1



Sticky Note

Supply shifting, explained = 1



Sticky Note

Diagram with one shift = 1
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Sticky Note

Good answer, but fails to show understanding of what causes prices to fall - the idea of excess supply at original equilibrium etc - no sense of any form of mechanics of the market mechanism or any understanding of how prices are determined. Not much was needed to get the 6th mark, but there was nothing in this answer to merit it. Hence 5/6.



Sticky Note

Supply explained = +1



Sticky Note

Demand explained well, diagram integrated = +2



Sticky Note

Although something has gone wrong with P2, this isn't central and in any case P3 is the final equilibrium that the answer is discussing. 2 marks here.






Using a supply and demand diagram, explain why commaodity prices are expected to fall
further in the future (lines 11-12). [6]







